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Linear Equations and Inequalities

Mathematics-9
Unit 7 — Exercise 7.1

Download All Subjects Notes from website @ www.lasthopestudy.com

(ii) Xx=3 x-2 _ 1
Exercise 7.1 3 2
Q.1  Solve the following equations Solution (FSD 2017, RWP 2016, D.G.K 2016)
. 2 1 1
(i) =x—==x=x+= (LHR 2013) x—3 x-2
5020 32
Solut|0r12: 1 1 By taking L.C.M
—X—=X=X+— 2(x—3)—-3(x—-2
3 2 6 ( )6 ( ):—1
4x—3x:6x+1 X B3+ 6= 5
6 6 =1
_6(6x+1) _ M.
Check
X=6X+1 X—3 X—2
—6x+x=1 1 =-1
—ox=1 When x =6
wo L 6-3 6-2
5 B R %1
3 2
x=-% 3 4_,
5 3 2
Check 6-12
1 —=-1
Substitution x = “c 7{?
2 -1 1 -1 -1 1 7=—1
e =4
32 51 26-?5 0 —1=-1
4+ = Solution Set={6}
15 10 30
—2x2+1x3 -1 (iii) l(x_l}rz § 1(1_3j
30 30 207 6) 3 6 32
443 -1 Solution:
30 30 ELX_EJ 2.5, 1(1_3)(}
1 2 6) 3 6 3\2
30 30 Taking L.C.M of brackets
: 1 1[6x—1)+g 5+1(1 6xj
Solution Set:{—g} 2l 76 3 673l 3
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Uhnit-7 Linear Equations and Inequalities
bx-1,2_5 176x (iv) x+E=2| x—2|_6x
12 3 6 6 3 |7 3
6x-1+8 5+1-6Xx Solution:
12 6 1 2_ 2] 6
6x L7 X+==2| x—= |-6x
B(Ox+7) g oL 3
3x+1 {3x—2}_6x
6X+7:6—6x 3 3
2 3x+1_ 6x-4 6
6x+7 =2(6-6X) 3 ~ g3 X
6X+7=12-12x Taking L.C.M of right side
6X+12x=12-7 3x+1 6x-4-18x
18x=5 3 = 3
5
X=— 3x+1 (-12x-4)
18 =
Check (A.B) 3 3
1 1Y 2 5 1(1 3 3X+1=-12x—4
1% 6/ 376 3l 3x+12x=—4-1
15x=-5
When x=— -5
X=—
1715 17, 2 5. 1[1 (5 '3
===+ -3 — Ll
2118 6] 3 6 3|2 18 X—?
1 5_'3}+Z=§+1[£-§} Check (A.B)
2118173 6 32 6 A ,
— X+=—=2| X——|—6X
112 +Z:§+E{E} 3 { 3}
2|18 3 6 3| 6 1
K When x=—

Solution Set= i}
18

0:2{_13_2}5_2

=2 7 |+2
0=2(~1)+2
0=— 242
0=0

Solution Set= {%1}
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v 28 g x X(x—2)=-12(x~2)
O 9 K(x-2)+12(x-2) =0
Solution
5(X—3) X (X—Z)(X+12)—O
5 —x:1—§ Xx—2=0,0rx+12=0
5x-15-6x 9-x X=2,0rx=-12
6 "9 x =2 (Rejected because x =2 )
Hence x=-12
—15—x:9—x Check
6 9 X _ _o_ 2X
9(-15—-x)=6(9—x) 3x—6  X-2
—135—-9x =54—-6X When x=-12
—135-54 =—-6Xx+9x -2 _2(—12)
—189=3x 3(-12)-6 -12-2
189 _ ~12 24
3 3%6-6 - -14
X=—63 12 . 24
Check TR
5(X—3) X 3
RV 12 12
6 9 - —
42 7
When x=-63 ] 2 14-12
5(-63-3) oo _, (-63) "MK
- (-63) =1 5 1
5(-66T B -1
( g ) +63=1+47 Solution Set={-12}
—55+63=8 (vii) 2x__2 5 (A.B)
8=8 ~2x+5 3 4x+10
Solution Set={-63} Solution
X 2% 2X :g_ 5
(vi) 3 6—2——2 ,X#=2(A.B) 2x+5 3 4x+10
Solution'x_ " 2x  2(4x+10)-3x5
X 2X 2x+5 3(4x+10)
=2———,X#2
3x—6 X—2 2x><3(4x+10)_8x+20 15
X  2(x-2)-2x 2x+5
3(x-2) x-2 6xx2(2%+5) o
X  2X—4-2x (M) —oX
3(x=2)  x-2 12X =8 +5
x -4 12x—-8x=5
3(x—2) x-2 4X;5
X(x—2)=-4x3(x-2) X=2
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Check 2(7x-1)=5x+7
2X =Z_ : 14x -2 =5x+7
2x+5 3 4x+10
5 14x-5x=7+2
When X:Z 9y =9
2 § ng
4) 2 5 9
5 3 5 x=1
2(4) > 4(4)“0 No solution because x # 1.
5 (ix) 22 o X #+1(A.B)
2 2 5 x*=1 x+1 x+1
a2 Solution
5
§+5 3 5+10 2 1 1
5 x*-1 x+1 x+1
2 25 2 1 1
5+10 3 15 (x=1)(x+1) x+1 x+1
2 2-(x-1) 1
] 5 1 (x—l)(x+l)_x+1
2 _
1573 3 2-(x-1) 1
) (x-1)(x+1) x+1
— Xx—-1)(x+1
Z 15" 3 (x+1)
1 1 3—x=x-1
3 3 iR, X
5 4 =2x
Solution Set={—} 4
4 E_X
wiy 22132, l1aB) X=2
. -1 3 6 x-1 Check
Solution: 2 1 _ 1
X 1.5, 2 221 241 2+1
x-1 3 6 x-1 2 1 1
3x2x+1(x—1):5(x—1)+2><6 213 3
3(x-1) 6(x—1) 2.1 1
6x+x-1 5Xx-5+12 3 3 3
3(x-1)  6(x-1) 2-1_1
7x-1 5x-5+12 13 . 3
3(x-1 6(x-1 ==
(D) 6(:—1) =

7)(_1:5x+7

Solution Set= {2}
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2 1 1 3x=0
(x) =—- (A.B) 0
3X+6 6 2x+4 X ==
Solution: 3
x=0
2 1 1
316 6 2x+4 Check
5 L L 3X+4=2
3 =63 5 When x=0
X+ X+
( ) ( ) 4/3(O)+4 =2
2 x+2-3 Ji—2
3(x+2) 6(x+2) 52
2><6(x+2)_x_1 LHS=RH.S
3(x+2) Solution Set= {0}
4=x-1
atl=x (i) ¥2x-4-2=0 (A.B)
X=5 (LHR 2015, BWP 2017)
ChZCk L1 Solution:
3(5)+6 6 2(5)+4 g4 -2-0
5 1 1 JY2x-4=2
15:6 6 1044 Taking cu3be on bsoth sides
2,11 (Y2x=4) =(2)
21 6 14 ox—4=8
3:7__3 2X:8+4
21 42 =12
2 A _12
2 " 2
5 o X=6
2 2L EZeCk4 2=0
Solution Set= {5} X=a-e=
. When x=6
Q.2 Check each equation and check for R
extraneous solution, if any 2x-4-2=0
Q) J3x+4=2 32(6)-4-2=0
(LHR 2013, GRW 2016, SWL 2014, 16,
BWP 2016, D.G.K 2017) 12-4-2=0
Solution: %/5—2:0
\/3X+4=2 323_2:0
Taking square on both side 2_2-0
2
(Vax+4) =(2) 0=0
LHS=RH.S
X+4=4 .
I =44 Solution Set= {6}
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(i) x-3-7=0 (A.B) 9+16
(LHR 2014, 17, FSD 2014, BWP 2013, 15, 2 e 5
D.G.K 2014)
Solution: 5 25 _s
Jx-3-7=0 4
Vx—-3=1 2x2 25
Taking square on both side 2
2 _ (7Y 5=5
( x—3) =(7) )
LHS=RH.S
X—3=49 9
X=49+3 Solution Set= {—}
X =52 4
Check v)  Yax+3=Yx-2 (A.B)
JX=3-7=0 (SWL 2015, SGD 2017)
When x =52 Solution:
J52-3-7=0 Y2x+3=3x-2
J49-7=0 Taking cube on both sides
7-7=0 3 P (x=2)
00 (\/2x+3) _( X 2)
L.HS=R.H.S 2X+3=Xx-2
Solution Set= {52} 2X—x=-2-3
(v) 2i+4=5 (A.B) 1
(LHR 2015, MTN 2014, D.G.K 2017) Check
Solution: Y2x+3=3x-2
2\Jt+4 =5 When x=-5
Taking square on bhoth side
gsq 2 32(-5)+3=3-5-2
(2Vt+4) =(5) \/—10+ _y7
4(t+4)=25 T -4
t 4 4_25 LHS=RH.S
4 Solution Set={-5}
25
=7—4 (vi) 3Y2-t=32t-28 (A.B)
o5 _16 Solution:
A Y2-t=32t-28
9 Taking cube on both sides
t=— 3 3
4 (Y2-t) =(¥2t-28)
Check 5 t_2t_o8
2 ”4:2 24+28=2t+t
When t=— 30=3t
4 30
9 —=t
2,|[=+4=5 3
4 t =10
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Check Check
Y2-t=32t-28 X+1
When t =10 2X+5 B
2-10 =§/2 10)-28 _
( ) When x :ﬂ
3-8 =3/20-28 /
ﬁ: %/E -19 . -19
LHS=RHS B2 N A
Solution Set={10} 19+7 38 J_,
(Vi)  2t+6—+/2t-5=0 (A.B) 7 |77 -
Solution:
J2t+6-2t-5=0 \/—;2{—38;35}:2
J2t+6 =2t -5
Taking square on both side 12 .3 _,
(V2+6) =(v2t—5) T
4
A+6=2t—5 M T,
2t—2t=-5-6 i 3
0=-11 \/222
Solution is not possible )
Solution Set={} or¢ LHS=RH.S

_ £ -19
(viii) /x_+1 _o xzx 2 (A.B) Solution Setz{—}
2X+5 2 7

(SGD 2016, MTN 2013)
Solution:

f X+1 _9
2X+5
Taking square on both side
2
X+1 :(2)2
2X+5
x+1
2X+5
X+1=4(2x+5)
X+1=8x+20
1-20=8x—-x
—-19="7x
19
—— =X
7

Or, x:_—19
7
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Linear Equations and Inequalities

Mathematics-9
Unit 7 — Exercise 7.2

0] [X| = 0 has only one solution True
(i) All absolute value equations have two solutions False
(i)  The equation |x| = 2 isequivalenttox =2 or x=-2 True
(iv)  The equation |[x — 4| =—4 has no solution True
(v) The equation |[2x — 3| =5 is equivalent to2x—-3=5or 2x+3=5 False
Q.1
(1) Solve: [3x-5|=4 (K.B) 1|3x+2|—4:11
(LHR 2014, 17, GRW 2014, 17, FSD 2017, 2
SWL 2016, 17, MTN 2014, 15) 1
Solution: P |3x+2[=11+4
|3x-5|=4 1
=|3x+2]=15
3x—5 =14 2
3x—5=4  or 3x—5=-4 |3x+2]=2x15
3x=4+5 3X=-4+5 |3x+2|=30
3x=9 3Ax=1 3x+2=130
9 1 3x+2=30 3x+2=-30
X=§ X=§ 3x=30-2 3x=-30-2
B 3x=28 3x=-32
oy _28 32
Check . 3 3
Put x=3 Put x = 3 Check
1|3x+2|—4=11 1‘3 _§+2 4=11
3(3)-5|=4 3x__5‘ 4 2 2”73
1|3 §+2| -4=11 1|—32+2|—4=11
9-5|=4 1-5|=4 23 2
4=4 True 4| = %|28+2|—4:11 %|—30|—4=11
4=4True 1 1
1 ~x30-4=11 =(30)-4=11
Solution Set= {3,—} 2 2
3 15-4=11 15-4=11
11=11 11=11
(i) 1|3x+2 |-4=11 (K.B) 28 .32
2 Solution Set= { , }
(LHR 2017, SWL 2015, 16, FSD 2016, 3" 3
MTN 2013, 16, RWP 2016)
Solution: (iii)  |2x+5/=11 (K.B)
219



Watch Video Explanation of these notes on our website: www.LastHopeStudy.Com

Unit -7
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(LHR 2014, 15, 16, 17, GRW 2014, 15, 16,
17, SWL 2016, 17, FSD 2014, 15, D.G.K
2014, 15, 16, 17, BWP 2017)

Solution:

2x+5=11

2x+5=+11

2x+5=11 2x+5=-11
2x=11-5 2x=-11-5
2x=6 2x=-16

6 -16
X=—= X=——

2 2
X=3 X=-8
Check
|2x+5|=11 2(-8)-8+35|=11
2x3+5=11 |-16+5|=11
6+5 =11 [-11]=11
11=11 11=11

Solution Set={-8,3}
(iv)  [3+2x/=|6x-7|(K.B)
(LHR 2015, 17, FSD 2016, SWL 2013,

BWP 2017)

Solution:
3+2x|=|6x—-7|
3+2x=%(6x-7)
34+2x=6x—-7 3+2x=—(6x —7)
3+7=6X-7 3+2X=-6X+7
10=4x 2X+6Xx=7-3
10 4
=X —=X
4 8

5 1
X=—= X ==

2 2
Check
3+2x|=|6x~7| 3+2x|=|6x~7|
oo SJ-l( )] rael]- et
3+5|=[15-7| 3+1 =[3-7|
8-Ig 4=14
8=8 4=4
Solution Set:{E,l}

2'2

(v)  [x+2-3=5-|x+2/(K.B)
Solution:
|x+2|-3=5-|x+2)|

X +2|+|x+2|=5+3

2|x+2|=8
x+2/=2

2
x+2|=4
X+2==44
X+2=4 X+2=-4
X=4-2 X=—4-2
X=2 X=-—6
Check
X+2|-3=5-x+2  |x+2|-3=5-|x+2
2+2]-3=5-2+2 [-6+2]-3=5-|-6+2]
14-3=5—4 |-4|-3=5-|-4|
4-3=5-4 4-3=5-4
1=1 1=1

Solution Set={-6,2}
(vi) %|x+3|+21:9(K.B)+(U.B)
Solution:
1|x+3|+ 21=9
2
1|x+3| =9-21
2
1|x+3| =-12
2

x+3=-12x2
x+3]=-24

Value of absolute is never negative
so solution is not possible

Solution Set={ }

.. 3-5x| 1 2
(vii) 2 33 (A.B)
Solution:
3-5x| 1 2
4 | 3 3
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3-5x_2 1 X+5|
4 3 2—X
3-5x| 2+1 X+5=+6
4] 3 2-x
3-5x|_3 iS:G
4 3 2-X
3-5x|_, X+5=6(2-X)
4 | X+5=12-6X
X+6x=12-5
3-5x
y i 7x=7
7
3—5x:1 and 3—5x:_l x:7
4 4
3-5x=4 3-5x=-+4 x=1
5x=4-3 5x=-4-3 x+5:_6
—5x=1 5x=-7 2-x
" ¥ = il X+5=-6(2-X)
_51 ;5 X+5=—12+6Xx
X=—= X=— 5+12=6x—x
> i 17 =5x
1
-5 ool 17 _
3. | (1) . A
4 3 3 b 1§
5
3+1 1 2 3-71_1_2 Check
4] 3 3 4|3 3 X+5|_
4.1_2 412 2-X
4 3 3 4] 3 3 1+5|
|_1|_1:Z 2-1
3 3 6
_:6
!
312 312 o
3 3 3 3 (£+5j+(2-£j‘:6
2_2 2_2 S 5
3 3 3 3 17+25 10-17| _
-17 5 - 5 |—6
Solution Set= {——}
5 5 4_2;i—6
(i) X_+5‘:6 (A.B) 5 5
_|2-x -6|=6
Solution:
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6=6
Solution Set= {1%}
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Linear Equations and Inequalities

Mathematics-9
Unit 7 — Exercise 7.3
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Q1 Solve the following inequalities

(i)  —4<3x+5<8 (K.B)+(U.B)

(SWL 2014, MTN 2015)

Solution:
4 <3X+5<8
-4 <3x+5 and 3x+5<8
—4—-5<3Xx 3Xx<&-5
-9 <3x 3x<3
-9 3
— <X X< =
3 3
—3<X x<1
—3<x<1
Solution Set={x|-3<x<1}
(ii) 573X g (SWL 2014) (A.B)
Solution:
-5< 4-3x <1
5< 4_23)( and 4_?’X<1
-10<4-3x 4-3x<2
3x-10<4 -3x<2-4
3x<4+10 —3X< -2
3x<14 x>_—2
-3
x< x>2
3 3
2
—<X
3
2 x<t
3 3

Solution Set={x| % <x< %}

(iii) —6<XT_2<6 (A.B)

Solution:

—6<X;2<6
4

—6<%2—>(i)and %2<6—>(ii)

. X—2

()= -6< 2
24 <x-2
—24+2<X
—22 <X
and

" X—2

(i) = i <6
X—2<24
X<24+2
X< 26
—22<X<26

Solution Set={x|-22 < x <26}

(iv) 327;2"21 (A.B)
Solution:
3> /X5
2

327;2’%@) and

7—X ..
—2>1->(
5 (i)

) 7 —X
)= 3>2——
(i) >

6>7-X
6-7>—X

—-1>-Xx
Negative sign change the symbols

1<x

(i) = 7;2)‘21
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7T—x2>2 Solution:
—Xx=22-7 1-2x<5-x < 25-6X
-X>-5 1-2x<5—x and 5-—x<25-6x
X<5 1-5<2x—x —X+6Xx<25-5
l=x<5 —4 <X 5x <20
Solution Set={x|1< x <5} 20
(V)  3x-10<5<x+3 (A.B) Xs%
Solution: x<4
3x—10<5<x+3 Aex<4
x-10<5 and 5o+ . Solution Set={x| 4 < x<4}
3x<5+10 5-3<x
3 <15 ey (viii) 3x—2<2x+1<4x+17 (A.B)
%<E Solution:
37 3 IX—2<2x+1<4x+17
x<5 3X—2<2x+1 2X+1<4x+17
2<x<5 IX—2X—2<+1 2X—4x<17-1
Solution Set= {x|2<x <5} J <882 —2x<16
(vi) —3sx;54<4 (A.B) X<3 x> 1
Solution: X>-8
—3§X;4<4 Bex
-5 —8<Xx<3
_33)(;54 and X=4 _4 . Solution Set={x|-8<x <3|}
—3x-5>x-4 x—4>4(-5)
15>x-4 x>-20+4
15+4>x x>-16
19> x -16 < X
x<19
-16<x<19

Solution Set={x|-16 < x <19}

(vil) 1-2x<5-x<25-6x

(A.B)
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] Mathematics-9

l'%“ Unit 7 —Review Exercise 7
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Q.1  Choose the correct answer

() Which of the following is the solution of the inequality 3—4x <117? (A.B)
(a) -8 (b) -2
14
(c)—I (d) None of these
(i) A statement involving any of the symbols <, >, <or >, is called------------ (K.B)
(a) Equation (b) ldentity
(c) Inequality (d) Linear equation
@iii) X = - is a solution of the inequality —z < x >§ (U.B)
(@) -5 (b) 3
3
(©)0 OFs
(iv)  Ifxisno larger than 10, then ---------- (U.B)
(FSD 2014, 15, SWL 2017, RWP 2014, SGD 2014, D.G.K 2013)
(@) x<8 (b) x>10
(c) x<10 (d) x>10
(v) If the capacity of an elevator is at most 1600 pounds then ---------- (K.B)
(LHR 2013, GRW 2014, FSD 2014, 17, SWL 2014, 16)
(a)c <1600 (b)c>1600
(c) c<1600 (d) ¢>1600
(vi)  x=0isasolution of the inequality ----------- (A.B)
(@ x>0 (b) 3x+5<0
(©) x+%<0 (d) x—2<0

Q.2 Identify the following statement as true or false (U.B)
(M The equation 3x—5=7—xis a linear equation. (True)
(i)  The equation x—0.3x =0.7xis an identity (True)
(ili)  The equation —2x+3 =8 is equivalent to -2x=11 (False)
(iv)  To eliminate fractions we multiply each side of an equation by the L.C.M of
denominators (True)
(v)  4(x+3)=x+3is a conditional equations (True)
(vi)  The equation 2( 3x+5) =6 x+12 is an in consistent equation (True)
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. 2 ) : 2
(vii) Tosolve 5x =12, we should multiply each side by 3 (False)
(viii) Equations having exactly the same solution are called equivalent equations. (True)
(ix)  Asolution that does not satisfy the original equation is called extra solution (True)
Q.3 Answer the following short question.
() Define a linear inequality in one variable (K.B)
Ans A linear inequality in one variable x is an inequality in which the variable x occurs only to
the first power and has the standard formax+b<0,a#0
(i)  State the Trichotomy and transitive properties of in equalities (K.B)
Ans  Trichotomy Property (K.B)
Forany a,b € R one and only one of the following statements in true. a<bor a=b,ora>b
Transitive Property
Leta,b,ceR.
(@) If a>bandb>c,thena>c
(b) If a<bandb<c,thena<c
(i)  The formula relating degree Fahrenheit to degree Celsius is F= §c+32 for what
value of c is F< O was (K.B) + (A.B) + (U.B)
Ans s c+ 32
5
gc +32=F
5
Since F<0
So %c +32<0
9c+160 <0
Or 9c+160<0x5
Or 9c+160<0
Or 9c< - 160
Or c< —%
(iv)  Seven times the sum of an integer and 12 is at least 50 and at most 60. Write and

solve the inequality that expresses this relationship (U.B)

Solution: Let the integer =y

Sum of integer and 12 =y +12

Seven times sum of integer and 12=7(y+12)
According to condition
50<7(y+12)<60

0_p(r+12) 0

7 7 7

5—03y+12£@
7 7

5—70—12£y+1/2'—1/2'£$—12
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4 . -34 24
—<y<— Solution Set= —<y——
y<— {yl Sy }

Q.4  Solve each of the following and check for extraneous solution if any
(1 J2t+4 =4t-1 (A.B)
Solution: 2t +4 =+/t-1

Taking square on both side

(V2+4) =(vi1)

2t+4=t-1

2t—-t=-1-4

t=-5

To check

N2t+4 =4t-1
When t=-5
J2(-5)+4=+t-5-1
J-10+4 =-6
J-6=1-6
LHS=RH.S
Solution Set={-5}
(i)  +3x—1-28-2x=0 (A.B)
Solution: +/3x—-1-28-2x =0
\3x—1=28-2x
Taking square on both side

(VB1) ~(e57

3x—1=4(8—2x)
3X—-1=32-8x
3X+8x=32+1
11x =33

33
X=—

11
X=3
To check
J3x—-1-28-2x=0
When x=3
J3(3)-1-2,/8-2(3) =0
J9-1-2/8-6=0
J8-242=0
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2\2-2J2=0
0=0
LHS=R.H.S

Solution Set={3}
Q.5 Solve for x

(i) 3x+14/—2=5x (A.B)

Solution: [3x+14|—2=5x
[3x+14| =5x+2
3x+14=+(5x+2)
3x+14=5x+2 3x+14=—(5x+2)
14—2=5x-3x
12 =2x 3X+14=-"5x-2
%:x 3X+5x=-2-14
X=6 8x:_—16

8
To check X=-2
3x+14] -2 =5x |3x+14]—2 =5x
When x=6 when x=-2
13(6)+14|—2=5(6) 3(-2)+14|-2=5(-2)
|18+14/-2=30 |-6+14|-2=-10
32-2=30 8-2=-10
30=30 6= -10

Solution Set= {6}

(i) SIx-3Ix+2] (AB)

Solution 1| x—3|:l| X+2|
3 2

g|x—3|:|x+2|

3

2 _|x+2]

3 |x=3]

x+2 2

X—-3 3

X+2 2 X+2 2
—_—— and —_—
Xx—-3 3 X—3 3
3(x+2)=2(x—3) 3(x+2)=—2(x—3)
3X+6=2X—6 3X+6=-2X+6
X—2X=-6-6 X+2X=+6—-6
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X=-12
To check

1|x—3|=£|x+2|
3 2

When x=-12

1 1
=|-12-3]==]-12+2]
3 2

1|—15|=1|—10|

3 2

1 5 1 5
318°)=52)
5=5

Solution Set={-12,0}
Q.6  Solve the following inequality

1
1l ——X+5<1
(i) -

Solution —%x+5 <1

—1x£l—5
3
—lx£—4
3
XZ—4><(—3)
X>12
Solution Set={x | x >12}
i) —3<i2g
Solution —3<1_2X <1
_3<1—2x 1—2x<l
-15<1-2x 1-2x<5
-15-1<-2X -2x<5-1
-16 < —-2X -2x <4
-16 4
—>X X>—
-2 -2
8>x X>—-2
X<8 —2<X
2<X<8

5x=0

X==— =>x=0
5

1|x—3|=£|x+2|
3 2

when x=0
Lo-3 042
3 2

1, ., 1
§|—3|=§|2|

1 1

- 31 — Zl
L)L)
1

2(3)=1

3()

1=1

(U.B)+(K.B)
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Solution Set={x|-2<x <8}
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o SELF TEST

Time: 40 min Marks: 25
Q.1  Four possible answers (A), (B), (C) & (D) to each question are given, mark the

correct answer. (7x1=7)
1 If capacity “ C ” of an elevator is at most 1600 pounds then

(A)C <1600 (B) C <1600

(C)C >1600 (D) C >1600
2 x =0is a solution of the inequality

(A)x>0 (B)3x+5<0

(C)x+2<0 (D) x-2<0
3 is the member of the solution set of inequality —2<x< g

(A) -5 (B)O

3
© 5 (D)3

4 The solution set of|x—4| =—4is:

(A) -8 (B)- 16
©) {} (D) 4
5 Which of the solution set of the inequality 9 —7x >19—-2x
(A) 19 (B)-7
(C)2 (D) -2

|
|
|
|
|
|
|
I
|
|
|
|
|
|
|
I
|
|
|
|
|
|
|
I
|
|
|
|
|
|
|
| © The value of “x” from the equation/2x—3 -7 =0is:
|

|

|

|

|

|

|

(A7 (B) 49
(C) 52 (D) 26

7 The general form of linear equation in one variable x is
(A)ax+by+c (B) ax? + bx + C
(C)ax+b=0 (D)ax+by+cz=0
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Q.2  Give Short Answers to following Questions. (5%2=10)

P

0] Find the solution set of = :
y-1 y-1

y=1
(i) Solve the inequality: 4x—-10.3<21x-1.8

. . 1 1

(iii)  Solve the inequality: 4_§X2_7+ZX

3-5x
4

1
3

(iv)  Solve: ‘

_2
3

(v)  Solve the radical equation: /2x+3=3x-2
Q.3 Answer the following Questions. (4+4=8)

(@)  Solve the inequality: x—2(5-2x)> 6x—3%

(b)  Solve the equation and check for extraneous root:

NOTE: Parents or guardians can conduct this test in their supervision in order to check the skill

of students.
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